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D'novV 6 = NnX
NIYaxYxX 4 = nov
NIYAXX 24 = nnx

ap 6 = nxo
174 =2p
nxna 6 = a1y
a7 24 = axo
axa1.5=a"%

2.7
NIYAXX

<+«—>

2 x2x2.7=10.8 niyaxn3

a1'7n Ny

T02

NTon 1\'X
NN 7 n'ynn
D'YA¥XN 7V D'YAXN
YAXN Uninl YAaXX 'YNI D'YAXX DN

aln n'yan = 10.8 niyaxx® s axo 40 = 3 ninxad

D"YA¥X X D"YIA¥X X (Dyaxx + 2 yaxx + /5 yayx) = 10.8 niyaxn?®

2 NIYAXX X 2 NIYAXX X 2.7 niyaxx = 10.8 niyaxa3

ninx 3

1 anx x 1 nnX X 3 ninx = 3 ninx3
6 n'noV X 6 n'NOLV X 18 n*'noL = 648 n'nov3

24 niyaxx X 24 niyaxx x 72 niyaxx = 41,472 niyaxx?

41,472 niyaxx3/ 10.8 nivaxx3 = 3,840

NNL AN

3,840x » 1x1x3=3nmnx3

3,840x

» ANO D'VAIN
ap 240 = nxo 40
a17 960 = a7 240

960 a1'2/ a a1'7 = 3,840
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yian - 7mayn 72y AN yainn and

D'N9V 6 = NnX
NIYAXX 4 = nOL
NIYAXX 24 = AnX

Ninx 10

ninx 10

A
v
01 NUIU

a
NnINX 5

*"w v jlawna niyv
Qi7'n IawNna N91\NLVY (1AW 97N e V (Cube nrup) = L x W % Rrét0p 10 x 5 = 500)

Rashi used perimeter calculation for area/volume V (Cylinder 22) sy/ree23xdb¢30652 x 5 = 375)
V (Cube nnupM ¥ 3Gydineses 7'22)
L x W VH: /3718 miHx3
X 875 1Hnni(/Dapinatt = 125
XeXeH/n(2)?X%2+H

P (Cylinder '1''71) = iD
P (Cube nraj) =4D
P (Cube nmaip) / P (Cylinder '7''12)

4D / D
2, 1 2,
4D | 3D X2+H/maX?+H
. X2 | mVaX?
P (Cube nmaip) / P (Cylinder '11'22) =4/3
1/ %
1/%

V (Cube n1aup) / V (Cylinder 7'22) =4 /3 =500/ 375
375 ninx3/ 3 nink3 =125
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T'02

(INPTN' 72 ' N

NN NNINNN NINX v9v nnv nwyw N0t
NI712Y NNy oyl

1N XNIN AYTIA 'ND D1 YNY 1IN X

V (Cylinder 7a) = tr2 x H (3 x 52 x 5 = 375)
V (Cone yax) = "smr2 x H (Y x 3 x 52 x 7.5 = 187.5)
V (Cylinder 7'71) / V (Cone y1ax) =2/1=375/187.5
V (Cone ymax) / V (Cone ymaa + Cylinder '1'21) = 2 = 187.5 / (375 + 187.5)
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ninx 2

[T
V (Cube nmaip) =LxW x H (10 x 10 x 3 = 300)
V (Cylinder "73) = r2 x H (3 x 52 x 2 = 150)

V (Cube nnap) + V (Cylinder '72) = 450 ninx3
450 ninx3 / 3 nimx3 = 150 nixipn

Ninx 10

ninx 3

V = Volume = no
D = Diameter = oip
r = Radius = orrm
H = Height = han
L = Length 7ix
W = Width anin

P = Perimeter q;*'n

T=3



